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- w4 SR | PER (kg) ) | mE 1 el FE Hi (BA1)
31100 EX 15 864 864 864 864 | B 1=
Y3015 T H 6 432 22 22 22| B 207K
32600 #F3 4 432 32 32 11| B 203
31700 F Xy 110 13, 068 1,296 1,188 1,080 | &N 117 —2
31800 FHNAE 38 10, 503 65 43 43| BN 1923
31950 H#a¥ 3 1,080 108 108 108 | BN 104
31900 AX 10 4,266 | 594 324 324 B 10kg
36800 Hox x 9 13 9,207 | 810 810 540 | BN 13kg
34400 k= k 56 16, 632 | 302 302 202 | B 56kg
34270 Xy % —= 8 2,700/ 76 76 54| B 407K
35220 | % oh X RBT 48 46,351 21,063] 2,043 1, 747|BN 70
35220 | XM XHE 11 4,082 432 432 270 | BN 11kg
| 35300 |E— X 6 6, 1565' 1, 080 972 972 | BN 6kg
35303 (A F v TEZIALED 42 29,370 17,569 17,569 1,351 | &M 31l
35303 RF v TEIAED 24 8, 867 594 216 54 | BN 24kg
Y3026 217 EZ AL S (F) 4 2, 862 1,188 540 540 | B 4kg
VY3115 1EZ ALY S 194 216 216 216 | & 1kg
Y3115 | Ex AL D 80 49,611 26, 041 6, 756 6, 756 | B 31l
35400 ELFE D 4 1,361 324 324 324 | B 4kg
Y3033 ML 200 15, 282 162 54 43| BN 200kg
36200 FEéHE 50 12, 420 270 270 216 B 50kg
36260 1T L= 700 124, 848 1,836 1,836 1,728 | B 704 — 2
36600 ¥R E 15 2, 430 162 162 162 | BHA 15kg
136650 FEftloFhE 32 3, 996 65 65 32| BA 804
33400 L& R 64 4,752 65 32 27| B 12818
33410 Y=—1 %2 6 265 32 3 3| EBA 301&
33300 Tyl — 23 7,290 324 324 324 | BN 23kg
Y3017 &Y 2 2, 700 1,404 1, 404 1,296 | BH 2kg
Y3030 b4 (3) 2 3,024 1,512 1,512 1,512 | B 2kg
41806 7= A A 150 9, 720 324 324 324 | BA 30% v b
46108 S AMFDO0EE 81 78, 656 324 281 216 | BN 2703y 7
71011 AL —% 21, 892 49 38 32| B 56074
53456 7= 7RiE 4 1,512 378 378 378 | BN 4kg
Y5001 | KARIEIE 3 324 108 108 108 | &M 3kg
Y3019 HFDY 4 11,124 3, 024 2, 700 2,700 B 4kg
Y5010 2biE (&) 7 5,119 810 648 648 | BN Tkg
30100 jfib\:/u 2L 50 3, 888 86 76 76| ERE 5045
30300 A% 2L 10 1,836 1,836 1,836 1,836 BEEE 17 —2
30300 A% L 50 10, 800 2, 160 2,160 2,160 | RS 57—
30300 A% 40 3, 024 76 76 76 | BERE 40kg
30400 ZIEH 8 2, 246 86 86 86 | F AR 2648




2/2

2 e _ WEfmE ] EH
a—F b Sk | PR (kg) &8 (1) =il o i gefE | BE M (BAL)
31100 [ 75 6, 588 1,404 1,296 1,296 &l 54—
33500 | ¥ T &% 1 54 11 11 11 | %@ 54%
33810 | HHHEIE 16 6,912 1,728 1,728 1,728 \BER B 47— A
| 33810 | HMEX 4 1,728 86 86 86 | JEE R 5 204%
Y3072 | RE—Y—7 3 1,782 59 59 59 | g 30%%
Y5005 |47k %A 5 1,534 1,534 1,534 1,534 | K% 14—
31800 HEH N AEL 6 1,134 59 59 54 | B 15 2048
31950 Hiax 2L 9 2, 268 756 756 756 | BE R B 34—
31900 FaX 10 2, 462 162 119 119 |EIRE 203 (500g)
32800 |iZ 5 5 2,592 65 43 43 |'ElE 503
34300 7o 15 5,724 1, 944 1, 944 1, 836 |REA 3T =R
34300 729 2L 10 5, 400 2, 700 2, 700 2,700 | FEA 24— A
34400 | b=k L 20 6, 804 1,404 1,404. 1,296 KA 57— A
34100  #/I 19 5, 270 173 173 157 | i 324%
34100  #IK L 30 11,016 2, 052 2,052 1,620 | FEIR B 64— A
34200 |RFR 40 6, 804 2, 484 1,404 1,404 | =2 —U— 44 —2

VAN
34500 B—< L 6 5, 508 92 92 92 ERE 604%

36200 B 2L 30 9, 720 3, 240 3, 240 3, 240 | B 34—
36600 |7~ EAX s 100 13,500 2,700 2,700 2,700 | dtiEE 54—
Y3027 (L v Ri=gEnE 3 1,134 378 378 38| 7 AU S 3kg
37200 LxoA 2L 4 3,996  3,996| 3,996 3,996 Eif 1r—=
33400 L& = 6 1,512 1,512 1,512 1,512 | &g 17 —= A
33420 UV —1rY—T L XA L 3 162 11 11 11 |4 [ 15{H »
Y3092 AL —Y —7 4 216 11 11 11 |ERE 2048
Y3096 TLAHLAY—T 6 702 321 22 22 |BEIR B 3048
38100 |4 LW\ =it 11 7,679 86 81 59 | ‘B Ig 1078y 7
31310 | &3 8 1,296 32 32 2 |ERE 4048
32500 | FoiE 1 648 65 65 65 | K4y 1038
37560 BT 1 4, 147 432 410 410 | K5y 103y 7
130910 TF 4 v 1 259 32 32 32 BERE 8%
38400 D EH 15 4, 644 32 2 28 BIRE 15048
38521 &SR L®HUE 3 1, 620 59 59 49 [x@ 3048
38620 FIOE 2 2, 808 140 140 140 | 48 204%
42320 Y aFa— K 10 6, 048 6, 048 6, 048 6,048 | H 7% 1 —2
46007 HLIE -~ 2L 1 432 216 216 216 |EEIR B 28y
46108 X AMIDOMEE 5 3,672 216 216 216 |EIRE 173w 7
49100 NFF 12 3, 888 3, 888 3, 888 3,888 74 U Y 14—
L aat 2,484] 676,849 |




